П	A	В	С	D E	F	G	N O	Р	d R	s	T AA	AB	A AD	AE
	Bid # 17-4	85-034 Janitorial Supplies											1	
3	• Eugliseis	on is Exclusive of Sales Tax												
4	Evaluation	on is exclusive of Sales Tax			2-1				en de como					
5	Categor	y I - Janitorial Chemicals				al Janitorial amento, CA		on Supply Co. eld, CA		oply Co., Inc.		ist Jan. Supply ville, CA		fice Supply & acerville, CA
			Estimated		West Saci	amento, CA	railine	iu, Cx	Berni	Benicia, CA		Ville, OX	Finding, Fi	cervine, CA
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
١.	١.	Liquid Hand Soap - Antimicrobial					4							
7	1	with pump - 1 bottle Scouring Powder Cleanser with	264	Bottles	\$2.50	\$660.00	\$2.13	\$562.32	\$1.92	\$506.88	\$2.15	\$567.60	\$2.30	\$607.20
8	2	Oxygen Bleach - 1 can	1261	Cans	\$0.98	\$1,235.78	\$1.05	\$1,324.05	\$0.90	\$1,134.90	\$0.95	\$1,197.95	\$0.97	\$1,223.17
		Bathroom/Shower Cleaner - Non												
9	3	Acid, Deodorizes - 1 quart Foaming Shower Cleaner - 1	2	Quarts	\$1.91	\$3.82	\$2.23	\$4.46	\$2.09	\$4.18	\$1.76	\$3.52	\$2.15	\$4.30
10	4	Quart 1	33	Quarts	\$3.05	\$100.65	\$5.27	\$173.91	\$1.61	\$53.13	\$2.59	\$85.47	\$2.45	\$80.85
		"Simple Green" Cleaner / Degreaser -						,	,	,,,,,,,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , ,	,
11	5	1 Gallon	14	Gallons	\$6.29	\$88.06	\$10.70	\$149.80	\$9.50	\$133.00	\$5.87	\$82.18	\$6.45	\$90.30
12	6	Glass & Surface Cleaner - Liquid - Ready to Use - 1 Gallon	325	Gallons	\$3.21	\$1,043.25	\$4.70	\$1,527.50	\$2.71	\$880.75	\$3.27	\$1,062.75	\$3.37	\$1,095.25
-		Dishwashing Soap - Hand, Liquid - 1	323	Galleris	75.21	31,043.23	J-1.70	\$1,527.50	32.71	\$400.75	33.27	\$1,002.75	33.37	\$1,033.23
13	7	Gallon	12	Gallons	\$5.17	\$62.04	\$5.27	\$63.24	\$8.13	\$97.56	\$3.90	\$46.80	\$4.70	\$56.40
		Germicidal Cleaner / Disinfectant for												
14	8	Walls & Floors - 1 Gallon	347	Gallons	\$6.25	\$2,168.75	\$7.60	\$2,637.20	\$4.64	\$1,610.08	\$6.66	\$2,311.02	\$7.60	\$2,637.20
						, ,		V2,007120	•	02,020,00	1	V2,522.02	V.1.00	V2,057120
		Foaming Cleaner and Disinfectant /								l i				1
15	9	Deodorizer, Aerosol - 1 Can Cleaner / Disinfectant, Controls:	862	Cans	\$2.58	\$2,223.96	\$1.79	\$1,542.98	\$2.28	\$1,965.36	\$2.14	\$1,842.53	\$2.53	\$2,183.70
		Staph, Strep, Herpes, HIV, Aerosol				1 1					ŀ			
16	10	(Lysol) - 1 Can	397	Cans	\$3.24	\$1,286.28	\$2.83	\$1,123.51	\$2.29	\$909.13	\$2.50	\$992.50	\$2.45	\$972.65
17		Cleaner / Disinfectant, Non-foaming,			120000							100000000		
1/	11	Aerosol - 1 Can Cleaner Disinfectant, Deodorizer,	18	Cans	\$3.24	\$58.32	\$2.84	\$51.12	\$2.35	\$42.30	\$2.50	\$45.00	\$2.45	\$44.10
		Pine Scent, Liquid (like Pinesol) - 1							1		1			
18	12	Gallon	1	Gallons	\$6.52	\$6.52	\$7.80	\$7.80	\$4.85	\$4.85	\$6.52	\$6.52	\$8.00	\$8.00
19	13	Urinal Screen w/ Deodorant Block - 1 Dozen	168	Dozen	\$12.60	\$2,116.80	\$14.20	\$2,385.60	\$11.33	\$1,903.44	\$11.00	\$1,848,00	******	\$1,987.44
1,7	13	Hand Soap, Antiseptic, Liquid, for	100	Dozen	\$12.00	\$2,116.60	\$14.20	\$2,385,60	\$11.55	\$1,903.44	\$11.00	\$1,848.00	\$11.83	\$1,987.44
20	14	Dispenser - 1 Gallon	96	Gallons	\$5.10	\$489.60	\$5.92	\$568.32	\$6.13	\$588.48	\$5.15	\$494.40	\$4.69	\$450.24
21	15	Hand Soap for Dispensers, Liquid - 1 Gallon	469	Gallons	\$3.18	61 401 42	\$3.78	44 772 62	\$3.19	44 405 44	42.42	44 457 07	40.50	4
21	13	Bleach, Germicidal, 5.25% Sodium	409	Gallons	\$3.10	\$1,491.42	\$3.78	\$1,772.82	\$3.19	\$1,496.11	\$3.13	\$1,467.97	\$3.50	\$1,641.50
		HyporChlorite, Liquid (Clorox) - 1					1 1				1			
22	16	Gallon	819	Gallons	\$1.84	\$1,506.96	\$2.18	\$1,785.42	\$2.35	\$1,924.65	\$1.85	\$1,515.15	\$1.84	\$1,506.96
23	17	Laundry Detergent, Powder, 25 lb box/bag/pail	8	Boxes	\$13,23	\$105.84	\$10.60	\$84.80	\$13.90	\$111.20	\$13.75	\$110.00	\$13.70	\$109.60
		Floor & Surface Cleaner, Liquid - 1		DOXES	713.23	3105.04	310.00	354.50	\$13.50	\$111.20	313.73	\$110.00	\$15.70	\$109.60
24	18	Gallon	246	Gallons	\$4.23	\$1,040.58	\$5.62	\$1,382.52	\$3.18	\$782.28	\$4.25	\$1,045.50	\$4.10	\$1,008.60
25	19	Floor Polish, Wax, Hi Gloss, Non Slip, 16% Solids - 5 Gallon pail	33	Pails	\$47.85	Ć1 570 CT	150.00	A1 570 65	440.05	64.640.65	****	4	440	44.040.5
23	13	ice & Snow Melt, Chemical 1 Bag /	33	Palls	\$47.85	\$1,579.05	\$50.85	\$1,678.05	\$49.05	\$1,618.65	\$46.50	\$1,534.50	\$48.85	\$1,612.05
26	20	Pail	64	Bags/Pails	\$15.32	\$980.48	\$16.55	\$1,059.20	\$81.50	\$5,216.00	\$9.00	\$576.00	\$8.87	\$567.68
,-	21	Air Freshener Deodorizer - Aerosol - 1 can	205		40.05									
27 28	21	Sub totals	305	Cans	\$3.35	\$1,021.75 \$19,269.91	\$3.29	\$1,003.45 \$20,888.07	\$1.83	\$558.15 \$21,541.08	\$3.00	\$915.00 \$17,750.36	\$2.83	\$863.15 \$18,750.34
29 30		Prompt Payment Discount			0%	\$0.00	0%	\$20,888.07	0%	\$21,541.08	2%	(\$355.01)	2%	\$18,750.34 (\$375.01)
30		Local Vendor Preference (5%)			0%	\$0.00	0%	\$0.00	0%	\$0.00	5%	(\$887.52)	0%	\$0.00
31		Category Total				\$19,269.91		\$20,888.07		\$21,541.08	2	\$16,507.83		\$18,375.34

Cell: O7

Comment: Eric Van Leeuwen:

Bit Item #1; Bidder (D) quoted \$4.25 w/ 16 oz bottle, using 8 oz. container, per price bottle is \$2.125. All other bidders quoted 7.5 - 8 oz bottles

Cell: R1

Comment: Eric Van Leeuwen:

Bid Item #9; Bidder E) quote 1.72/can or .12 per oz. Using 19 oz. container, price per bottle is \$2.28. Other bidders used 19 - 20 oz. cans. Other bidders used 19 cans.

Cell: AA15

Comment: Eric Van Leeuwen:

Bid Item #9; Bidder (H) quoted \$2.25 w/ 20 oz. bottle or \$.1125 per oz. Using 19 oz container, price per bottle is \$2.1375. Other bidders used 19 oz. container

Cell: AD15

Comment: Eric Van Leeuwen:

Bid Item #9; Bidder (I) quoted \$3.20 w/ a 24 oz can, or \$.1333 per oz. Using 19 oz container, price per bottle is \$2.53. Other bidders used 19 oz. cans.

Cell: O16

Comment: Eric Van Leeuwen:

Bid Item #10; Bidder (D) quoted \$2.20 w/ 15.5 oz can, or \$.1419 per oz. Using 20 oz container, price per can is \$2.83. Other bidders used 20 oz. can

Cell: R16

Comment: Eric Van Leeuwen:

Bid Item #10; Bidder (E) quoted \$1.72 w/ a 15 oz. can, or \$..114666 per oz. Using 20 oz containers price per can is \$2.293. Other bidders used 20 oz cans.

Cell: O17

Comment: Eric Van Leeuwen:

Bid Item #11; Bidder (D) quoted \$2.20 w/ 15.5 oz can, or .141935 per oz. Using 20 oz container, price per cann is \$2.84

Cell: F26

Comment: Eric Van Leeuwen:

Bid Item 20. Bidder (A) quoted \$12.25 w/ a 40 lb bag, or \$.30625 per lb. Using 50 lb bag, price per bag is \$15.3125. Other Bidders used 50 lb bag

Cell: R26

Comment: Eric Van Leeuwen:

Bid Item #20; Bidder E) quoted \$16.30 per 10 lb bag, or \$1.63 per lb. Using 50 lb bag price per bag is \$81.50. Other bidders used 50 lb bag

Cell: F27

Comment: Eric Van Leeuwen:

Bid Item #21; Bidder (A) quoted \$3.35 per 10 oz can, or \$.335 per oz. All bidders used different size containers

Cell: O27

Comment: Eric Van Leeuweri:

Bid Item #21; Bidder (D) quoted \$3.29 per 16 oz can, or \$.205 per oz. All bidders used different size containers.

Cell: R27

Comment: Eric Van Leeuwen:

Bid Item #21; Bidder (E) quoted \$1.83 per 15 oz can, or \$.122 per oz. All bidders used different size containers

Cell: AA27

Comment: Eric Van Leeuwen:

Bid Item #21; Bidder (H) quoted \$3.00 per 20 oz can, or \$.15 per oz. All bidders used different size containers

Cell: AD2

Comment: Eric Van Leeuwen:

Bid item #21; Bidder (I) quoted \$2.83 per 9 oz can, or \$.314 per oz. All bidders used different size containers

	А	В	С	D E	F	G	N O	Р	Q R	S	Z AA	AB	A AD	AE
1	Bid # 17-4	85-034 Janitorial Supplies							•					
2														
3	* Evaluation	on is Exclusive of Sales Tax											W Y	
4					(A) Sac Va	l Janitorial	(D) I.C. Nelso	on Supply Co.	(F) Cole Sur	ply Co., Inc.	(H) West Coa	st Jan. Supply	(I) Sierra Off	ice Supply &
5	Categor	y II - Janitorial Utensils			100 100	amento, CA	2 2	eld, CA	V1 1007 112	ia, CA	Placery		Printing, Pla	
			Estimated		Extended		1	Extended	Extended		11.000	Extended	Extended	
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price
		Plastic Spray bottle, 24/400 neck												
7	22	Finish, 32 oz - 1 bottle	229	Bottles	\$0.55	\$125.95	\$0.42	\$96.18	\$0.48	\$109.92	\$0.52	\$119.08	\$0.53	\$121.37
		Trigger for Plastic Spray Bottle,							1					
		28/400 Closurel, 9" Dip Tube Filter -							1					
8	23	1 Trigger	239	Triggers	\$0.43	\$102.77	\$0.43	\$102.77	\$0.48	\$114.72	\$0.44	\$105.16	\$0.44	\$105.16
		Deck Brush, Multi surface Plastic,											11	
		10" Width, Be-Level Twin Deck - 1	1							1 . 1			II	
9	24	Each	44	Each	\$8.00	\$352.00	\$7.00	\$308.00	\$7.07	\$311.08	\$6.45	\$283.80	\$8.60	\$378.40
		Brush, Toilet Bowl, Plastic Bristles, 4												
10	25	1/2" head, 21" overall length - 1 Each	14	Each	63.10	£20.40	£1.77	£10.53	62.72		61.10	£15.55	42.50	ć50 40
10	25	Feather Duster, Small, 12-14" Wood	14	Each	\$2.10	\$29.40	\$1.33	\$18.62	\$2.73	\$38.22	\$1.19	\$16.66	\$3.60	\$50.40
11	26	Handle, - 1 Each	20	Each	\$4.96	\$99.20	\$8.25	\$165.00	\$9.95	\$199.00	\$4.60	\$92.00	\$4.50	\$90.00
	20	Feather duster, Large, 30-36", Wood	20	Lacii	34.50	\$99.20	30.23	\$103.00	\$5.55	\$199.00	34.60	\$52.00	34.30	\$90.00
12	27	Handle - 1 Each	9	Each	\$8.87	\$79.83	\$13.75	\$123.75	\$9.37	\$84.33	\$7.25	\$65.25	\$7.84	\$70.56
		Mop, Toilet Bowl, Acid Resistant,	,	Lucii	\$0.07	\$75.05	J15.75	3125.75	\$5.57	304.55	\$7.25	\$05.25	77.04	\$70.50
13	28	Long handle - 1 Each	45	Each	\$0.63	\$28.35	\$0.64	\$28.80	\$2.73	\$122.85	\$0.61	\$27.45	\$0.64	\$28.80
	51-0-0	Stainless Steel Scubber, Round Ball		PRODUCTION CO.			1	,		, , , , , , , , , , , , , , , , , , , ,	, , , , ,		, , , , ,	,
14	29	(Scotch Brite) - 1 Dozen	71	Dozen	\$7.21	\$511.91	\$9.80	\$695.80	\$7.07	\$501.97	\$4.32	\$306.72	\$9.44	\$670.24
							1							
		Scrubbing Sponge, Light Duty, 1 side					1				1 1			
15	30	Sponge, 1 side Scrub Backing - 1 Box	333	Boxes	\$23.75	\$7,908.75	\$13.29	\$4,425.57	\$21.15	\$7,042.95	\$16.80	\$5,594.40	\$22.80	\$7,592.40
		Scouring Pad, Heavy Duty, 6x9 (3M) -												
16	31	1 Box	105	Boxes	\$16.55	\$1,737.75	\$19.94	\$2,093.70	\$15.69	\$1,647.45	\$18.00	\$1,890.00	\$17.64	\$1,852.20
1	22	Steel Wool Soap Pads - Heavy Duty							I		34 200000	# _a		
17	32	Cleaning - 1 Box	51	Boxes	\$4.13	\$210.63	\$4.54	\$231.54	\$7.07	\$360.57	\$4.94	\$251.94	\$5.63	\$287.13
18	33	Dust Pan, Plastic, 12" Width, Heavy Duty - 1 Each	3	Each	\$2.62	\$7.86	\$1.77	\$5.31	62.12	\$6.39	63.00	66.00	62.05	66.15
10	33	Duty - I cacii	3	Each	\$2.02	\$7.86	\$1.//	\$5.31	\$2.13	\$6.39	\$2.00	\$6.00	\$2.05	\$6.15
		Plunger, Toilet, Industrial, Wood							1					- 1
19	. 34	Handle, 20" Length - 1 Each	7	Each	\$2.55	\$17.85	\$5.72	\$40.04	\$5.82	\$40.74	\$4.04	\$28.28	\$5.00	\$35.00
20		SuB Totals			+	\$11,212.25	722	\$8,335.08	75.52	\$10,580.19	\$	\$8,786.74	\$5.00	\$11,287.81
21		Prompt Payment Discount			0%		0%	\$0.00	0%	\$0.00	2%	(\$175.73)	2%	(\$225.76)
21		Local Vendor Preference (5%)			0%	8	0%	\$0.00	0%	\$0.00	5%	(\$439.34)	0%	\$0.00
23		Category Total			0.000000	\$11,212.25		\$8,335.08		\$10,580.19		\$8,171.67	7	\$11,062.05

Cell: O15

Comment: Eric Van Leeuwen:

Bid Item #30; Bidder (D) quoted 19.94 per box/case of 60, or .3323 each. Using box/case count of 40, price per box/case is \$13.29. Other bidders used 40 per box/case.

Cell: AA15

Comment: Eric Van Leeuwen:

Bid Item #30; Bidder (H) quoted \$2.10 per box of 5, or \$0.42 each. Using box/case count of 40, price per box/case is \$16.80. Other bidders used 40 per box/case.

Cell: AD15

Comment: Eric Van Leeuwen:

Bid Item #30; Bidder (I) quoted \$2.85 per box of 5, or \$0.57 each. Using box/case count of 40, price per box/case is \$22.80. Other bidders used 40 per box/case.

Cell: AA16

Comment: Eric Van Leeuwen:

Bid Item #31; Bidder (H) quoted \$3.00 per box of 10 pads, or \$0.30 per pad. Using 60 pads per box count, price per box is \$18.00. Other bidders used 60 pad per box count

Cell: AD16

Comment: Eric Van Leeuwen:

Bid Item #31; Bidder (I) quoted \$5.88 per box of 20 pads, or \$0.294 per pad. Using 60 pad per box count price per box is \$17.64. Other bidders used 60 pad per box count

Cell: O17

Comment: Eric Van Leeuwen:

Bid Item #32; Bidder (D) quoted \$3.63 per box of 12 pads, or \$.3025 per pad. Using 15 pads per box count, price is \$4.54 per box. Other bidder used 12 and 15 pads per box count.

Cell: AA17

Comment: Eric Van Leeuwen:

Bid Item #32; Bidder (H) quoted \$3.98 per box of 12 pads, or \$0.3316 per pad. Using 15 pads per box count, price is \$4.94 per box. Other bidder used 12 and 15 pads per box count.

Cell: AD17

Comment: Eric Van Leeuwen:

Bid Item #32; Bidder (I) quoted \$3.75 per box of 10 pads, or \$0.375 per pad. Using 15 pads per box count, price is \$5.63 per box. Other bidder used 12 and 15 pads per box count.

Ш	A	В	С	D E	F	G	N O	P	Q R	S	Z AA	AB A	AD AD	AE
_	Bid # 17-48	85-034 Janitorial Supplies												
2														
3	* Evaluatio	on is Exclusive of Sales Tax												
4	_				0.51 1050	l Janitorial	8 8	n Supply Co.	(E) Cole Sup	ply Co., Inc.	(H) West Coast Jan. Supply		(I) Sierra Offi	
5	Category III - Janitorial Floor Care Products			West Sacramento, CA		Fairfie	Fairfield, CA		Benicia, CA		Placerville, CA		cerville, CA	
11			Estimated			Extended	20.00	Extended		Extended		Extended		Extended
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price
11												I		
-		Floor Machine Stripper Pad, Black,												
7	35	20" (Like 3M 7200N) - 1 Case	15	Case	\$13.40	\$201.00	\$12.45	\$186.75	\$11.68	\$175.20	\$11.00	\$165.00	\$15.33	\$229.95
11								ŀ						
	36	Floor Machine Polishing Pad, White, 20" (like 3M 4100N) - 1 Case	9	Case	\$13.40	\$120.60	\$12.45	\$112.05	\$11.68	\$105.12	\$11.00	\$99.00	\$15.35	\$138.15
8	36	Broom, Janitor "Natural Corn Fiber"	9	Case	\$13.40	\$120.60	\$12.45	\$112.05	\$11.08	\$105.12	\$11.00	\$99.00	\$15.55	\$136.13
9	37	42" Length - 1 Each	19	Each	\$3.06	\$58.14	\$5.56	\$105.64	\$6.13	\$116.47	\$5.35	\$101.65	\$3.61	\$68.59
H	37	42 Length - I Lach	13	Lacii	33.00	750.14	35.50	\$105.04	30.13	7110.47	, ,,,,,,	Ţ101.05	75.02	700.55
11		Broom, Yellow Metal Cap, Upright,		i I										
10	38	56" Length, Plastic/Nylon - 1 Each	3	Each	\$5.20	\$15.60	\$8.40	\$25.20	\$6.79	\$20.37	\$5.11	\$15.33	\$5.32	\$15.96
1	-	Mop bucket with Ringer /	_		10.20	720.00	1	******	1	, ,	,			
11		Downpress, Combo Pack, 35 quart for												
11	39	16-24 oz mop - 1 Set	2	Each	\$46.86	\$93.72	\$69.85	\$139.70	\$43.44	\$86.88	\$51.48	\$102.96	\$45.11	\$90.22
П						~			SAGA					
11		Mop Head, Wet, Medium, 4 Ply												
11		Cotton/Rayon/Polyester Blend, 5"											e	
12	40	Headband, Twisted Loop - 1 Each	190	Each	\$3.97	\$754.30	\$3.65	\$693.50	\$3.89	\$739.10	\$2.40	\$456.76	\$2.39	\$454.10
							1							
11		Mop Head, Wet, Large, 4 Ply												
		Cotton/Rayon/Polyester Blend, 5"												
13	41	Headband, Twisted Loop - 1 Each	224	Each	\$5.53	\$1,238.72	\$4.33	\$969.92	\$5.55	\$1,243.20	\$2.90	\$649.60	\$3.23	\$723.52
		Mop Handle, Wet Mop, 60" Length												
14	42	with Wingnut - 1 Handle	15	Each	\$5.25	\$78.75	\$6.40	\$96.00	\$5.77	\$86.55	\$4.95	\$74.25	\$5.75	\$86.25
		Floor Stripper, Non-Butyl, Low Oder,			1				1					
15	43	Medium duty, rinse free - 5 Gallon Pail	19	Pails	\$49.00	\$931.00	\$58.77	61 116 63	\$58.32	\$1,108.08	\$37.48	\$712.12	\$76.67	\$1,456.73
15	43	Floor Stripper, No Ammoniates, Light	19	Palls	\$49.00	\$951.00	\$58.77	\$1,116.63	\$50.52	\$1,108.08	\$57.46	\$/12.12	\$76.67	\$1,436.73
16	44	Duty, Rinse - 1 Gallon	20	Gallons	\$9.70	\$194.00	\$8.47	\$169.40	\$4.57	\$91.40	\$6.99	\$139.80	\$9.68	\$193.60
17		Sub-Totals	20	Gallotts	-	\$3,685,83	Ş0.47	\$3,614.79	, , , , ,	\$3,772,37	\$0.55	\$2,516,47	\$5.08	\$3,457.07
18		Prompt Payment Discount			0%	\$0.00	0%	\$0.00	0%	\$0.00	2%	(\$50.33)	2%	(\$69.14)
19		Local Vendor Preference (5%)			0%	\$0.00	0%	\$0.00	0%	\$0.00	5%	(\$125.82)	0%	\$0.00
19 20		Category Total				\$3,685.83	"	\$3,614.79	"	\$3,772.37	-70	\$2,340.32		\$3,387.93

	Α	В	С	D	E F	G	V 0	Р	Q R	S	Z AA	AB	A AD	AE
	Bid # 17-48	35-034 Janitorial Supplies					•						•	
2														
3	* Evaluatio	n is Exclusive of Sales Tax												
4					(A) Sac Va	l Janitorial	(D) J.C. Nelso	in Supply Co	(E) Cole Sur	ply Co., Inc.	(H) West Coa	st Jan. Supply	(I) Sierra Off	ice Supply &
5	Category	y IV - Janitorial Paper Products	S		2 2	amento, CA	Fairfie		35.5	ia, CA	Placerville, CA		Printing, Placerville, CA	
			Estimated			Extended	74	Extended		Extended	7.12201	Extended		Extended
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price
		Tampon / Tampax, Gentle Glide for												
7	45	Vending - 1 Case	1	Cases	\$47.00	\$47.00	\$59.00	\$59.00	\$47.96	\$47.96	\$48.50	\$48.50	\$54.50	\$54.50
		Sanitary Napkins, Maxi-Pad #8 - 1				l 1								
8	46	Case	389	Cases	\$30.00	\$11,670.00	\$31.50	\$12,253.50	\$30.52	\$11,872.28	\$30.98	\$12,051.22	\$30.92	\$12,027.88
		Facial Tissue, Flat Box, White, 100		l I										
9	47	Sheets Per Box - 1 Case	241	Cases	\$13.00	\$3,133.00	\$11.30	\$2,723.30	\$10.90	\$2,626.90	\$13.45	\$3,241.45	\$12.50	\$3,012.50
		Toilet Tissue, 2 Ply, 500 Sheets Per					1							
10	48	Roll - 1 Case	1948	Cases	\$26.49	\$51,602.52	\$25.80	\$50,258.40	\$25.07	\$48,836.36	\$26.04	\$50,725.92	\$26.99	\$52,576.52
		Paper Towel, Single Fold, Natural		1										
11	49	Brown - 1 Case	179	Cases	\$14.00	\$2,506.00	\$14.60	\$2,613.40	\$13.63	\$2,439.77	\$14.25	\$2,550.75	\$14.29	\$2,557.91
		Paper Towel Roll, Natural Brown, 7									1			
12	50	7/8" wide - 1 Case	32	Cases	\$16.50	\$528.00	\$17.80	\$569.60	\$28.04	\$897.28	\$16.70	\$534.40	\$17.95	\$574.40
		Paper Towel, Multi-Fold, Bleached - 1												
13	51	Case	2615	Cases	\$13.75	\$35,956.25	\$13.94	\$36,453.10	\$13.63	\$35,642.45	\$13.80	\$36,087.00	\$13.44	\$35,145.60
		Paper Towel, Handi / C-Fold,												
14	52	Bleached - 1 Case	116	Cases	\$14.35	\$1,664.60	\$16.15	\$1,873.40	\$19.10	\$2,215.60	\$14.40	\$1,670.40	\$14.86	\$1,723.76
		Paper Towel, Kitchen Style,		l	ì									
15	53	Perforated Roll - 1 Case	130	Cases	\$21.00	\$2,730.00	\$18.40	\$2,392.00	\$18.53	\$2,408.90	\$21.00	\$2,730.00	\$21.30	\$2,769.00
		Toilet Seat Cover, Paper, Single												
16	54	Sheet, 1/2 fold - 1 Case	199	Cases	\$20.50	\$4,079.50	\$18.95	\$3,771.05	\$18.09	\$3,599.91	\$21.00	\$4,179.00	\$20.25	\$4,029.75
		Skin Cleaners / Hand Wipes, (Like												
17		Scrubs In-A-Bucket) - 1 Can	80	Cans	\$39.04	\$3,123.20	\$11.15	\$892.00	\$14.64	\$1,171.20	\$10.50	\$840.00	\$4.95	\$396.00
		Instant Hand Sanitizer (GOJO Purell),												
18	56	Pump Bottle - 1 Bottle	604	Bottles	\$3.25	\$1,963.00	\$4.42	\$2,669.68	\$3.86	\$2,331.44	\$4.59	\$2,772.36	\$4.87	\$2,941.48
		Hand Sanitizer Wipes 6" x 8",							1 "	· · ·		40 Mar 157 (SA 492)		100000000000000000000000000000000000000
19	57	Canister	111	Canister	\$7.45	\$826.95	\$8.11	\$900.21	\$4.50	\$499.50	\$7.50	\$832.50	\$7.24	\$803.64
		Lysol Disinfecting Wipes, 7" x 8"			1				1				1	* *********
20	58	White, 80 Wipes /canister	1588	Canister	\$4.69	\$7,447.72	\$5.56	\$8,829.28	\$5.02	\$7,971.76	\$4.20	\$6,669.60	\$4.71	\$7,479.48
21 22 23 24		Sub-Totals				\$127,277.74		\$126,257.92		\$122,561.31		\$124,933.10		\$126,092.42
22		Prompt Payment Discount			0%	\$0.00	0%	\$0.00	0%	\$0.00	2%	(\$2,498.66)	2%	(\$2,521.85)
23		Local Vendor Preference (5%)			0%	\$0.00	0%	\$0.00	0%	\$0.00	5%	(\$6,246.66)	0%	\$0.00
24		Category Total				\$127,277.74		\$126,257.92		\$122,561.31	1	\$116,187.78		\$123,570.57

Cell: AD11

Comment: Eric Van Leeuwen:

Bid Item #49; Bidder (I) quoted \$14.32 per case with 334 sheets per pack, and 12 packs per case, or 4008 sheets per pack (.0036), or \$14.29 per case of 4000 sheets. All other bidders used 4,000 sheets per case

Cell: F13

Comment: Eric Van Leeuwen:

Bid Item #51; Bidder (A) quoted \$13.75 / case of 12 packs (w/334 sheets per pack or 4,008 sheet per case or .0034 per sheet. Using 4000, sheets per case price per case is \$13.72/case. Other bidders used 4,000 sheet per case (12 packs with 334 sheets per pack)

Cell: AD13

Comment: Eric Van Leeuwen:

Bid Item #51; Bidder (I) quoted \$13.47 / case of 12 packs (w/334 sheets per pack or 4,008 sheets, or \$.0033 per sheet. Using 4000, sheets per case price per case is \$13.44/case. Other bidders used 4,000 sheet per case (12 packs with 334 sheets per pack)

Cell: F17

Comment: Eric Van Leeuwen:

Bid Item #55; Bidder quoted \$40.65 /can with 75 wipes per can, or \$.542 per wipe. Using 72 wipes per can price per can is \$39.02 per can. Other bidder used 72 wipes per can

Cell: R17

Comment: Eric Van Leeuwen:

Bid Item #55; Bidder E) quoted \$6.10/can with 30 wipes per can, or \$.203 per wipe. Using 72 wipes per can price per can is \$14.63 per can. Other bidder used 72 wipes per can

Cell: AA18

Comment: Eric Van Leeuwen:

Bid Item #56; Bidder (H) quoted \$3.06/bottle with 8 0z bottle, or \$0.3825 per oz. Using a 12 oz. container, price per bottle is \$4.59 per bottle. Other bidders used 12 oz. bottles.

Cell: AD18

Comment: Eric Van Leeuwen:

Bid Item #56; Bidder (I) quoted \$3.25/bottle with 8 0z bottle, or \$0.40625 per oz. Using a 12 oz. container, price per bottle is \$4.87 per bottle. Other bidders used 12 oz. bottles.

Cell: F19

Comment: Eric Van Leeuwen:

Bid Item #57; Bidder (A) quoted \$7.45 / canister with 175 wipes per canister, or \$.0426 per wipe. Using a canister with 85 wipes, price per canister is \$3.62 per canister. Other bidders used 85 wipe canisters.

Cell: O19

Comment: Eric Van Leeuwen:

Bid Item #57; Bidder (D) quoted \$9.54 /canister with 100 wipes per canister, or \$.0954 per wipe. Using a canister with 85 wipes, price per canister is \$8.11 per canister. Other bidders used 85 wipe canisters.

Cell: R19

Comment: Eric Van Leeuwen:

Bid Item #57; Bidder (E) quoted \$3.97 / canister with 75 wipes per canister, or \$.0529 per wipe. Using a canister with 85 wipes, price per canister is \$4.50 per canister. Other bidders used 85 wipe canisters.

Cell: F20

Comment: Eric Van Leeuwen:

Bid Item #58; Bidder (A) quoted \$4.40 / canister with 75 wipes per canister, or \$.05866 per wipe. Using a canister with 80 wipes, price per canister is \$4.69 per canister. Other bidders used 80 wipe canisters.

	А	В	С	D 1	E F	G	H I	J	K L	м. п	0	P	R	S	Z AA	AB	A AD	AE
1	Bid # 1	7-485-034 Janitorial Supplies						•				•						
2	4																	
3	* Evalu	ation is Exclusive of Sales Tax																
4	-				(A) Sac Val	Janitorial	(B) Unip	ak Corp	(C) Interboro Packaging Corp		(D) J.C. Nelson Supply Co.		(E) Cole Sup	ply Co., Inc.	(H) West Coast Jan. Supply		(I) Sierra Office Supply &	
5	Cate	ory V - Janitorial Trash Liners			West Sacra		Brookl		Montgor		Fairfie		Benici		Placery		Printing, Placerville, CA	
	1		Estimated			Extended		Extended		Extended		Extended		Extended		Extended		Extended
6	Bid Ite	n# Description	Quantity	Unit of Measure	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price
		Can Liner, .80 mil., 24"x23" For 7-10																
7	59	Gallon Can, Black - 1 Case	258	Case	\$14.25	\$3,676.50	\$15.00	\$3,870.00	\$14.24	\$3,673.92	\$16.11	\$4,156.38	\$13.63	\$3,516.54	\$14.50	\$3,741.00	\$15.49	\$3,996.42
١.		Can Liner, 1 mil., 24"x32", for 12-16		1 _ 1														
-	60	Gallon can, Black - 1 Case Can Liner, 1.0 mil., 30"x36" for 20-30	105	Case	\$22.95	\$2,409.75	\$23.00	\$2,415.00	\$21.72	\$2,280.60	\$25.48	\$2,675.40	\$22.88	\$2,402.40	\$23.55	\$2,472.75	\$24.77	\$2,600.85
١	61	Gallon Can, Black - 1 Case	94	Case	\$16.70	\$1,569.80	\$14,40	\$1,353.60	\$21.20	\$1,992.80	\$18.00	\$1,692.00	\$15.70	\$1,475.80	\$17.50	\$1,645.00	\$16,40	\$1,541.60
ť	1 °^	Can Liner, 2 mil., 40"x46" for 40-45	34	Case	310.70	\$1,565.60	\$14.40	\$1,555.00	\$21.20	\$1,592.80	\$18.00	\$1,652.00	\$13.70	\$1,475.60	\$17.50	\$1,643.00	\$16.40	\$1,541.60
	1	Gallon Can, Heavy Duty, Black -					1 1	1								- 1		1
10	62	The control of the co	1112	Case	\$18.65	\$20,738.80	\$19.65	\$21,850.80	\$19.24	\$21,394.88	\$24.00	\$26,688.00	\$19.57	\$21,761.84	\$20.00	\$22,240.00	\$20.85	\$23,185.20
	1	Can Liner, 1 mil. 33"x39", for 33			,	,,	,	¥22,022.00		VII,00	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	VII.,000.00		VII,/ II. I	, , , , ,	V==,= :=:0=	1 4	410/11011
11	63	Gallon Can, Black - 1 Case	22	Case	\$18.65	\$410.30	\$17.70	\$389.40	\$34.95	\$768.90	\$21.00	\$462.00	\$17.53	\$385.66	\$19.12	\$420.64	\$21.29	\$468.38
	1	Can Liner, 1.5 mil., 40"x46" for 44		1 1			"		100						1			7-6
	1	Gallon Can, Clear, Heavy Duty -		1				- 1			1							
12	64		90	Case	\$17.50	\$1,575.00	\$17.00	\$1,530.00	\$16.72	\$1,504.80	\$20.48	\$1,843.20	\$14.64	\$1,317.60	\$17.95	\$1,615.50	\$19.96	\$1,796.40
13	3 Sub-Total				\$30,380.15		\$31,408.80		\$31,615.90		\$37,516.98		\$30,859.84		\$32,134.89		\$33,588.85	
14	4	Prompt Payment Discount			0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	\$0.00	2%	(\$642.70)	2%	(\$671.78)
15	5 Local Vendor Preference (5%)				0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	\$0.00	5%	(\$1,606.74)	0%	\$0.00
16	6 Category Total					\$30,380.15		\$31,408.80		\$31,615.90		\$37,516.98		\$30,859.84	1.00	\$29,885.45		\$32,917.07

Cell: L9

Comment: Fric Van Leguwen

Bid Item #61; Bidder (C) quoted \$8.48 / case with 100 liners per case, or \$.0848 per liner. Using a case count with 250 liners, price per case is \$21.20 per case. All other bidders used 250 liners per case.

Cell: L11

Comment: Eric Van Leeuwen:

Bid Item #63; Bidder (C) quoted \$13.98 / case with 100 liners per case, or \$.1398 per liner. Using a case count with 250 liners, price per case is \$34.95 per case. All other bidders used 250 liners per case.

Cell: R12

Comment: Eric Van Leeuwen:

Bid Item #64; Bidder (E) quoted \$29.28/ case with 200 liners per case, or \$.1464 per liner. Using a case count with 100 liners, price per case is \$14.64 per case. All other bidders used 100 liners per case.

	A	В	С	D	E F	G	N O	Р	ol R		a	1 40 1	.1 .5	1 45
		35-034 Janitorial Supplies	C	U	<u> </u>	G	N O	Р	Q R	S	Z AA	AB	A AD	AE
2		so consumeral supplies												
3	* Evaluatio	n is Exclusive of Sales Tax												
4					(A) 500 Va	l Janitorial	(D) J.C. Nelso	Sunnilu Ca	(r) Cala Sua	alu Callana	(11) 11/2-14 (5-4	at the County	(I) Classes Off	D C
5	Categor	v VI - Miscellaneous "No Excer	tion" Items		West Sacra		(D) J.C. Neisc			pply Co., Inc. ia, CA		st Jan. Supply ville, CA	17.0	fice Supply & acerville, CA
\Box			Estimated	Г	West sacia	Extended	Tallile	Extended	Dellic	Extended	Flacei	Extended	Finding, Fi	Extended
6	Bid Item #	Description	Quantity	Unit of Measure	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price	Unit Price	Price
П		Floor Polish - Wax; Heavy duty,												
7	65	Johnson Vectra - 5 Gallon Pail	27	Pails	\$65.50	\$1,768.50	No Bid	#VALUE!	\$111.73	\$3,016.71	No Bid	#VALUE!	No Bid	#VALUE!
		Toilet Tissue - 1 Ply; 1,000 sheets Per												
1.1		Roll; 96 Rolls Per case -				Circ.		10	1		3			
8	66	1 Case	325	Case	\$27.75	\$9,018.75	\$27.75	\$9,018.75	\$28.34	\$9,210.50	\$27.44	\$8,916.38	No Bid	#VALUE!
		Toilet Tissue - 2 Ply "Wheat Straw Fiber" 506 Sheets per Roll - 80 Rols												
		per Case (Back up for SLT) -												
9	67	1 Case	1	Case	\$45.00	\$45.00	No Bid	#VALUE!	\$41.04	\$41.04	No Bid	#VALUE!	No Bid	#VALUE!
H			-	Case	\$45.00	Ç45.00	No Bid	#VALUE!	341.04	341.04	No Bid	#VALUE:	NO BIG	#VALUE!
		Paper Towel Roll - White 7.5" wide,					1		1		l l			
10	68	700" roll, 6 Rolls Per Case - 1 Case	16	Case	\$68.90	\$1,102.40	No Bid	#VALUE!	\$52.57	\$841.12	No Bid	#VALUE!	No Bid	#VALUE!
		Paper Towel Dispenser for Kleenex			1		1				i	1 1		
		#25630 Towels Only - 1								240000			1	
11	69	Each Rags - 12.5" x 16.45" - 180 Per Box - 1	15	Each	\$0.00	\$0.00	No Bid	#VALUE!	\$0.00	\$0.00	No Bid	#VALUE!	No Bid	#VALUE!
12	70	Rags - 12.5" X 16.45" - 180 Per Box - 1 Box	196	Boxes	\$12.50	£2.450.00	445.00	40.070.00		40 000 00				
12		Purell NXT Hand Sanitizer 8 /1000 ML	150	poxez	\$12.50	\$2,450.00	\$15.20	\$2,979.20	\$12.01	\$2,353.96	\$12.23	\$2,396.98	No Bid	#VALUE!
13		bags per case	22	Case	\$60.75	\$1,336.50	\$67.80	\$1,491.60	\$62.88	\$1,383.36	No Bid	#VALUE!	No Bid	#VALUE!
П					, , , , , ,	, -,		V2, 152.00	V 02.00	\$1,505.50	110 510	"TALUE.	I No bid	WVALUE:
14	72	Purell NXT Hand Sanitizer Dispensers	12	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	No Bid	#VALUE!	No Bid	#VALUE!
		Lquid Soap for Dispenser - Hand												
1,		Soap, w/ Pink & Klean Cleanser, 800			1									
15		ML Bag, 12 Bags/case Liquid Soap Dispenser for GOJO Soap,	163	Each	\$30.46	\$4,964.98	\$28.85	\$4,702.55	\$26.32	\$4,290.16	\$25.11	\$4,092.93	No Bid	#VALUE!
16		1 Each	66	Each .	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	No Bid	#VALUE!
	100.000	Purell Sanitizing Hand Wipes, 6 3/4" x	.50	Lucii	30.00	\$0.00	30.00	\$0.00	30.00	30.00	\$0.00	\$0.00	INO BIG	#VALUE!
Ш		6", 270 wipes /canister, 6												
17	75	canister/case - 1 case	4	Cases	\$48.50	\$194.00	\$51.08	\$204.32	\$47.33	\$189.32	\$55.90	\$223.60	No Bid	#VALUE!
П									1					
Н		Royal Type B Vacuum Cleaner Bags,		*		l								
18	76	Micro Filtration, Allergen Style, Disposable, 3 bags per pack	3	Deales	62.50	47.50								
10		Royal Style B Vacuum Cleaner Belts, 3	3	Packs	\$2.50	\$7.50	No Bid	#VALUE!	\$8.67	\$26.01	\$6.25	\$18.75	No Bid	#VALUE!
19		Belts per Pack	3	Packs	\$1.15	\$3.45	No Bid	#VALUE!	\$1.66	\$4.98	\$1.25	\$3.75	No Bid	#VALUE!
20		Sub-Total				\$20,891.08	2000 5450	\$18,396.42		\$21,357.16	72.25	\$15,652.39		#VALUE!
21		Prompt Payment Discount			0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	#VALUE!
22		Local Vendor Preference (5%)			0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	#VALUE!
23		Category Total				\$20,891.08		\$18,396.42		\$21,357.16		\$15,652.39		#VALUE!
24 25	Augrand Vanders, Catagory VI													
23		Awarded Vendors - Category VI												

Cell: G8

Comment: Eric Van Leeuwen:

Bid Item #66; Bidder (A) requested an alternate brand and model than specified. Bidder gave a sample for evaluation at SLT Jail. Bidder (A) is not currently the low bidder and will not be awarded this item. SLt Jail will evaluate the sample.

Cell: AA8

Comment: Eric Van Leeuwen:

Bid Item # 66; Bidder (H) quoted \$29.50, and gets a 5% local vendor preference, plus a 2% payment term discount. Bidder (H) is low bidder with \$27.43 per case or \$8,916.38.

Cell: AA12

Comment: Eric Van Leeuwen:

Bid Item # 66; Bidder (H) quoted \$13.15 per box, and gets a 5% local vendor preference, plus a 2% payment term discount. Bidder (H) adjusted quote is \$12.2295 per box or \$2,396.98 total.

Cell: AA15

Comment: Eric Van Leeuwen:

Bid Item # 66; Bidder (H) quoted \$27.00 ea, and gets a 5% local vendor preference, plus a 2% payment term discount. Bidder (H) is low bidder with \$25.11 per case or \$4,092.93 total.

	Α	В	D	Ε	F G	Н	1 1	K	L M	N	O P	Q	X Y	Z	A AB	AC	
	Bid # 17-485-034 Ja	anitorial Supplies															
2																	
3	* Evaluation is Exclusive of Sales Tax																
4			(A) Sac Va	l Janitorial	(B) Ur	ipak Corp	(C) interhora	Packaging Corp	(D) I.C. Ne	son Supply Co.	(E) Co	e Supply Co., Inc.	(H) West Co	(H) West Coast Jan. Supply		ffice Supply &	
5	Summary of Al	l Categories	1 ''	amento, CA		klyn, NY	11''	omery, NY		field, CA	1 1	Benicia, CA	1 1 ' '	rville, CA	Printing, Placerville, CA		
6	Category	Description	Catego	ry Total	Cate	ory Total	Categ	ory Total	Cate	ory Total	C	tegory Total	Cate	ory Total	Categ	ory Total	
7	Category I	Chemicals	\$19,2	69.91	No Bid		N	o Bid	\$20	,888.07		\$21,541.08	\$16	,507.83	\$18,	\$18,375.34	
8	Category II	Utensils	\$11,2	12.25	No Bid		N	o Bid	\$8,335.08 \$10,580			\$10,580.19	\$8,	171.67	\$11,	062.05	
9	Category III	Floor Care Products	\$3,6	85.83	No Bid		No Bid		\$3,	\$3,614.79 \$3		\$3,772.37	\$2,	340.32	\$3,	387.93	
10	Category IV	Paper Products	\$127,	7,277.74		No Bid		No Bid		5,257.92	11	\$122,561.31		i,187.78	\$116,240.68		
11	Category V	Trash Liners	\$30,380.15		\$31,408.80		\$31,	\$31,615.90		\$37,516.98		\$30,859.84		,885.45	\$32,	917.07	
12	Category VI	Miscellaneous "No Exception" Items	. N	/A	<u> </u>	N/A		N/A		N/A		N/A		N/A N/A		N/A	
13			\$191,	325.88	\$31	\$31,408.80		\$31,615.90		5,612.84		189,314.79	\$173	\$173,093.05		,983.07	
													71				
14 15		Additional Purchase Discount (\$2,000.00)	30%	\$1,400	10%	\$1,800	509	6 \$1,000	35	% \$1,30	35%	\$1,300.00	30%	\$1,400.00	35%	\$1,300.00	
15		Evaluated Total	I	\$193,225.88	1	\$33,208.80	I I	\$32,615.90		\$197,912.84	11	\$190,614.79		\$174,493.05	1	\$183,283.07	